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(chlorogenic acid)©] 6‘%5401 NS
<F-opH JLEAF = (100g)>
mepy | TR | ¥R | A4 | EEERED | g A | wEkIC
(%) (%) (%) | g=n | 4ea | (mg (mg) (mg)
7 64.6 1.1 0.3 31.7 0.6 28 0.8 20
el 91.1 0.6 0.2 10.5 1.5 54 1.8 10
24 84.1 3.0 0.4 9.0 1.4 88 2.3 30
o 84.7 3.9 0.6 8.1 1.3 78 2.1 15
AR 5EAEHY
3. AArks3k
O A 2 AR ()
o 124 AjuiH AL 11 thH] 27.4% F7F3F 22,997ha
o 12 Ak 11 d W] 34.2% S7}13F 342,668
e i b 57 (249] : ha, ke/10a, E)
T B 08 09 '10 11 12
Al 19,451 20,918 19,200 18,040 22,997
4 £ 1,693 1,676 1,557 1,415 1,490
A AL = 329,351 350,661 298,930 255,284 342,668
AR e AN S7HEA XY
Q A S AejHEA
o ZAX ] AuH AL AdH] 0.6% 7HA3F 4,654ha( )5 3.7% 74, =4 0.6% =7}, sl
1.8% =71
— oFA 9L Az WA 918 ERAS AujA] o] s dro s 7HAsel oL, =ik sd A
Ad s dFor ATt £71
(9] © ha, %)
T 5 7] o5 =2k At sft A
"11(A) 1,870 650 2,162 4,682
'12(B) 1,800 654 2,200 4,654
ol ¥](B/A) 96.3 100.6 101.8 99.4
A5 2 Y 571EAE
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o ZAEA L 71AI(1E]) £A7] - HILAA - 7 A E - QS FH R (FEAE) - A g-e-u
0 ?i-}%k(ﬁéﬂ 5~6kg/3.3m") : ('11) 4~6kg/3.3m2—> ('12) 3~5kg/3.3m’
ZFRAAAH10kg) ol o} Z38}

<=% EJE> <PVC A=A} &7]> <EHHZ >
wREREEL
o Al FohEE FAlE AEEs AF AEEe] Sl
- AAESH S AEALR b & Addete] SEH(ER FAIA AEES el gt
FAo] A - £YBhe] 3 I )
- AEL 3~45H (5, A F, shoE FHEste] PVCARH20~24keg) ol ol A=
QHF B B 25 A AMAEES AX

- 7w % 5 A5 Y, 5 9
- ]‘4%% : %.-Y %)2)]-’ %? }EJ-—(ZS_Y ‘3}%_) ‘5}7 Z—]-%’ Z—"—%) Z—]-}g—’ Z—]-%_Y Z—]-‘é.]—’ -\ﬂ-’ U],be’" %

2 < E ¥ NE 2% = 4]
= %H(g) 250 150 88 150 51 40 30
o . =N
— ZdolE 1 10H(E2, 98) ¥ & 70,000~100,0009/4, & : 45,000~50,0009/
— 2 & g 650~7504A10kg/Q/10H
— X

SEgA] Ak 980~1,0009/10kg, Z-2HdAF 1,100~1,3004/10kg
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1o file)
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16.4%
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<
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=
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Tl 380

AR 9,900

1

Hh
hu}

uk
=

o w74



A% Bt

(9 0 %)

4 WA HE 4 13 _ o gEeed

(4) l (13)
A Ak 2 52 =l |42 g | 42 2 ) 2

> — 5 —
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(%91 %)
RS 2 16 20 A
S 16

(2)

TN

A 7 63 =
(100) 7
21
L.% A —— I ‘ > dusg W
(35) = e

=
(99 : %)
P sEa 4 10 e
(4) l T o
A A 2} 26 =g 30 A2 30 A H) A}
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(%91 : %, 9/ke)

) of F oA & =AM % El
= 2%51 gz Q| @ | g2 @ @ | ©
A%= | BA= B4R | CA=Z | BA=R
s b+ 3 & 403 | 40.7| 427| 393| 41| 389| 519 38.9
+ & H £ 59.7| 593| 57.3| 607 559| 6L1| 481 611
2 A" W | 138 131| 136| 127| 134| 131| 139 146
gl | " W | 189 184| 175| 191| 197| 191| 205 189
o] | 270 278| 262| 289| 228| 289| 137 27.6
= 3 o 7 9.1 8.2 8.2 8.2 9.6 86| 113 9.8
A | = on © A 8.0 7.3 3.8 9.6 6.9 9.6 2.6 8.8
A ) @ A | 426 438| 453| 429 304| 429| 342 425
) FFF A A | 16466 | 1,708.3 | 1,7949 | 1,650.6 | 1,769.8 | 1,633.9 | 1,973.7|  1,555.9
2 H 2 7F A [4,087.0 | 4,200.0 | 42000 | 4,200.0 | 4,040.0 | 4,200.0 | 3,800.0|  4,000.0

F) A2 L AR — BRI ERFEN) - Anh - Al
BAE : AHEA) — EAEEN) — 2oy — g
A APHEA) — BEE - ¥ SRy - 2ud
(D~(B5)A : BA(1~5) FE0§ AL 3

. ZARE Ha(oF — AE AER)

(29« Yke)

T 2 11 12 S H] k1l
& A R(FRES) 20.6 20.6 -
A A A oE 65.0 71.4 6.4 HESCIRN R
3
T F A 100.0 100.0 -
& & H] 36.7 36.7 -
weigA | & k=1 175.0 161.0 A14.0 | Bj71A sk
AufeA | & & H] 66.7 66.7 - -
g A 464.0 456.4 AT6 | A 1.6% FHA
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ALRE RS HARlT - A, AR

AR 12, 11€

(&9 kg, %, )

T o = Y H & A & 2 7
7 4 2 7 2 | 1,794.9 42.7
Al g g 4 115.4 2.7 2,885,0009/1,250%4}/20kg
& 2k (RS 20.6 0.5 515,0009/1,250°441/20kg
}1\_]__
A& A4 E v 71.4 1.7 7149/10kg
Az oA A 100.0 2.4 1,000%)/10kg
¥ E3 H] 36.7 0.9 220,0009)/5%(600%<1/10kg)
Tl dg@gEsE | 1610 38 | Wl 7%
s
o}
o | % W b A | 23000 54.8
& % H] 66.7 1.6 20,0009/304F4H/10kg
I
s A bl 733.3 175 | (AEsee), 970, dz 5
o}
o] % | 1,100.0 26.2
2
s oW b A | 4,200.0 100.0
o AHH|] W Y9
- A AH AW (1) 65.09ke — (12) 714
- gedne4s 0 ('11) 175.09/kg — ('12) 161.0
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ALRE RS HARlT - A, AR

A 12, 119

(&9 kg, %, )

T w = < H| & A & 2 7
I 1,650.6 39.3
F 8 7 9 n 115.4 2.7 2,885,0009/1,250%2/20kg
A
& 2 (%) 20.6 0.5 515,0009/1,250%2}1/20kg
)‘\l_
DI I - R 71.4 1.7 7149/10kg
A}
X F A A 100.0 2.4 1,0009/10kg
& % H] 36.7 0.9 220,0009/5%(600%21/10kg)
= 3 2} H] 21.3 0.5 2139/10kg
o}
| A e - 84.0 2.0 A&7149 4%
A
3174 & 7 3 2,100.0 50.0
=~ | % B 19.6 0.4 1969/10kg
5
v | 7t A H] 109.2 2.6 (xR, AR, 47 5)
W) & 171.2 41
o]
i3 o9 7 A 2,400.0 57.1
| ® 3 H] 66.7 1.6 20,0009/3074}/10kg
7r ! H] 693.3 16.5 CAEgn], e, dAs 5
o}
o] & 1,040.0 24.8
A}
Sl % W 7 A 4,200.0 100.0
o AXu] HE Y
- A A A ne (1) 65.09kes — (12) 714
-3 A H @ ('11) 20.39/kg — ('12) 21.3
- A% #4500 (11 96.09%keg — (12) 84.0



<& 3>
g RS HAE(ER - AE 7EIAID
e 12 114 (29 kg, %, 4F)
T 5 = <& H| & A E 27
gl 4 g A 1,633.9 38.9
T % F ¢ oA 115.4 2.7 2,885,0009/1,25042H/20kg
A
&2k (FHEE) 20.6 0.5 515,00091/1,250421/20kg
11\1‘
A-d A4 H 71.4 1.7 7149/10kg
A}
X F A n 100.0 2.4 1,0009/10kg
¥ % H] 53.4 1.3 320,0009/5%(600441/10kg)
= | 3 = ] 91.3 0.5 2139)/10kg
o}
| A S 1 84.0 2.0 A A9 49
A
x| 4 = 7F A | 21000 50.0
~ | & =1 19.6 0.4 1969/10kg
3
v |z A H] 109.2 2.6 (HERN], oA, dxg 5
o) & 171.2 41
o
+ W 7 A4 2,400.0 57.1
| & H] 66.7 1.6 20,0009/30%F1/10kg
7F A H] 693.3 16.5 (Aaxgn], 1], dAs &
gl
o] & 1,040.0 24.8
&
s o 7 A 4,200.0 100.0
o ZAH W UYg
- A A AdEae (1) 65.09kes — (12) 714
-3 = v o (11) 20.39/%ke — ('12) 21.3
- A% £ 48 ('11) 96.09/ke — (12) 84.0
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<E9l 4>
Sl S ARG > A, FEAE)
Ak 1012, 11¢ (&9 kg, %, FF)
T 5 = o H] & A &= 2 7
=75 #H 7 2 1,973.7 51.9
A
4 3z o w 115.4 3.1 2,885,0009/1,25044/20kg
11\1‘
Y & 2 v(EEES) 20.6 0.6 515,0009/1,250321/20kg
A
(&7} — AIAEA])
P I S B R 71.4 1.9 7149/10kg
Al A A4 9 100.0 2.6 1,0009/10kg
11\1.
4 X3 % H] 53.3 14 320,000-9/5(6007321/10kg)
12e THEALE ¢
A 2277448 3.1 0.1 18,3609 -6000kg=3.19/kg
(2,550 x1270x50%)+VAT(2559x1274)
= = = 62.5 1.6 2.5% (A 1.5%, A9EH 1%)
';g 2z 2 2 | 1000 2.6 | Wiz 49
‘(r)r
= T F b A | 25000 65.8
& | % A gl 780.0 20.5 | (HEaEp], <R, A7 §)
U
2 | o R 520.0 13.7
=1
d0 % v 7 A | 38000 100.0

" ('11) 60.09/kg — ('12) 71.4



<E9] 5>
AT FE5HE HAXGEE — As, 7D
AR 12, 11 (9] : kg, %, AE)
S i = @ H] & A& 2 7
N I 1,555.9 38.9
4 4 83 % 9 w 115.4 2.9 2,885,0009/1,250421/20kg
& 2 v(3E%) 20.6 0.5 515,0009/1,25044}+/20kg
/1\1_
A&2 A E 4 71.4 1.8 7149/10kg
A}
% A m 100.0 2.5 1,0009/10kg
& % H] 83.3 2.1 500,0009)/5%(6007441/10kg)
© | 8 2} H] 21.3 0.5 2139/10kg
iq HoA w820 | 21 | A=Y 4%
1A @ 7 A 2,050.0 51.3
— | Wl % = 19.6 0.5 1969/10kg
5
© | 7 A H] 106.6 2.6 (AERH], AR, A7 F)
Wl & 123.8 3.1
9]
* o 7 A 2,300.0 57.5
| % H] 66.7 1.7 20,0009/30%2H/10kg
s A ] 653.3 16.3 (AE )], oA, JdAE %)
o}
o] & 980.0 24.5
A}
°c |l % o 7 A 4,000.0 100.0
o Axn] W U9
- A A AdEae (1) 70.09/kes — (12) 714
- % H 1 ('11) 80.09¥/kg — ('12) 83.3
-3 A Hl @ (11) 20.3Y/%ke — ('12) 21.3
- A% F4 8 (1) 94.09%ke — (12) 82.0



